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QUESTION 1

Which one of the following statements regarding quorum in a two node Pacemaker cluster is TRUE?
A. Quorum needs to be disabled in a two node cluster or else it will not be reliable.

B. With a two node cluster, quorum works fine.

C. The default quorum policy in a two node cluster needs to be set to freeze or it will not work.

D. The default quorum policy in a two node cluster needs to be set to ignore or it will not work.

Correct Answer: D

QUESTION 2

Which command should be used to convert a GFS filesystem to GFS2?
A. gfs_update

B. gfs2_convert

C. gfs2_migrate

D. ccs_migrate

Correct Answer: B

QUESTION 3

What action does the virsh save command perform?

A. It stops a VM and saves the data from memory to a file.
B. It saves the a running domain configuration to file.

C. It saves a copy of a running VM.

D. It rescues a VM from being fenced.

Correct Answer: A

QUESTION 4
Which one of the following should NOT be used as a lowlevel device for DRBD?

A. A LVM logical volume
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B. A physical hard disk
C. AEVMS volume
D. A loop device

Correct Answer: D

QUESTION 5

A user tries to install a Windows virtual machine, but this doesn\\'t work. The same user has just successfully installed a
Linuxbased virtual host. What is one possible reason why Windows cannot be installed?

A. Virtualization support is not available in the CPU.

B. The xend process is not loaded.

C. The Xen kernel is not loaded.

D. The NTFS file system is required in order to install Windows as a virtual machine.
E. The xendomain process is not loaded.

Correct Answer: A
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